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Collection Of Like Term Cancelling

Cheatography

rms Binomial Products

Binomial Products are expressions which

If and i have
s _ _ factors, then you can cancel to simplify. involve multiplying two term expressions by
Sa% + Tay is an algebraic expression. Ifa =2, =5, 7 = § and Take for example —. This is the same as - since there
o i worli e e Sal : for example - This is the same a5 -~ since there
¥=2 the expression would v the velue i acomsoi facbos ithe bopiand Bobtonive omld ‘oandel thenidvrite s, each other. USE FOIL METHOD.
5a% + oy =5 x (2)° X 5+ 7x 8 x 1 but what we have really done is divide the top by 10 and divide the bottom by 10. n B
i o a1 7 If both binomial terms are the same
=5x8x54Tx8x 100 10010 10 ita i
—200+14 for example (2x+y)(2x+y) we may write it as (2x
=214 20+12y _ (20+12y) +2 2
Example LU ORI S +Y)
w6y
Collection of like terms, like terms involve the same variables. RULE ~ i We may remember the formula for these
To simplify these we must follow certain rules. (ot b +emasctlsc oreqivaleatly a ,+ b_ (g 5 Sl i )
Fsample 13. Coee expressions as:
4ab x 3c = 12abc EXAMPLES b > > 2 b b2
s a+ =ac + 2ab +
but 4ab + 3¢ camnot be simplified. We may only combine terms 5ab+ 15bc +5b _ (Sab + 15bc + 5b) + 5b ( )
which are of the same type, i.e. “like terms” Zabe+10h (22‘1“ T e (a-b)2 = a2 -2ab + b2
_a+3c+ = = =
6ab+ 2ab+ ¢ = Sab+ ¢ " bac+2 . .
We can now simplify an example such as
Tm+m)(m—n) _ T(m+n)(m—n)+ (m+n)
22% + z + 3a% = 52” + 2 1 T A(m+ +n)+ _
4322 =5z +z (m.+ m)(m +n) . 735 i Z;(m n)+ (m +n) (2X + 2y)2 + (X_2y)2 — 4X2 + 8Xy + 4)2 + X2
T A(m+n)

_dxy + 4y2
Tt is important to realise that when you cancel, terms don’t just disappear, the 4xy + 4y
common factors actually become 1's. Tt is just we only write the number 1 when it 5
is & single term, since 1z is normally just written os z. = 5x= + 4xy + 8)2

. . z+ az + z(b+ c) z+ax+xb+c))+x . .
Expanding Grouping Symbols oo tefbrd) ftestelid) Sum Times The Difference
_ltat(b+c)
2

We should notice that when we expand an

Expanding in this case means to remove the grouping symbols and to do this

we multiple every term inside the grouping symbol by the term outside. expression such as (3x+2y)(3x-2y) we get a

szample 1.4. .

oo 14 special result.

" Algebra > >
S(p—q) =5 x Ap— 5 x q (3x + 2y)(3x-2y) = 9x& -6xy + bxy-4y
=20p-5q _ 9X2 _4y
). EQUATION
(8% — da?) = —2 x 8a% — 2 x (—4a”) ’—l—’ So We Have A Special Rule
— 162 + 82°
s (a+b) (a-b) = a2 - b2
3. EXPRESSION

—(@-b-c)=—-a+b+c ’—‘—‘
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(2x + 3\).(}x—5)

20)(8%) + (22(5) + () +

8x2—10x + 12x
~— N

‘combine

8x2+2x— 15
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Algebraic Fractions
MISC

Addition (add when Denominators are equal)

B=]=

Gl lels]«]slel7ele]uo]u]e a1, @, daivda %y Baily
2] 2 | + | 6 || 8 ][0 2 ][ x4 16 18 | 20 | 22 | 2+ L Sub Example 5 10 10
3 3 6 9 12|15 |18 (|21 | 24 || 27 || 30 || 33 || 36 7?

2]+ | 8 | 12| 16] 20 ] 24 | 28 | 32 | 36 ] %0 | #+ | %

5] 5 | 10 [ 15 | 20 ][5 | 30 | 35 | 40 | 45 ][50 | 55 | 60 Multiplication:

6 6 12 |[ 18 |24 || 30 |[ 36 || 42 || 48 || 54 || 60 || 66 || 72

8] e ][ 16 | 2+ [32][#0 | 48 ][5 [ 6+ | 72 |[e0 ][ e | o6 - 4

9][ o |18 27 |38 ][ 45 | 54 ][ 63| 72 ][ &1 | o0 | o9 |08 =%

o] 30 ][ 20 | 30 ][ %0 | 50 | 60 || 70 || &0 || o0 |[100][ 10 220

1] 32 ][ 22 | 33 ][ 4 | 55 | 66 | 77 | 88 || o5 |[110][zex]ze Division:

12][ 12 [ 24 | 38 [ 48 |[ 60 [ 72 ][ &4 || o6 |[108][x20] 13214+ K - keep the first fraction the same.

F - Flip the second fraction
C - Change The Division sign to a multiplication.

a 4 _a_ 5
4.0 8.3
2 5 27 4b

=58

8

Chart of Perfect Squares 1 to 30

11%2=121 212441 Coefficient first then variables follow
122=144 2

13%=169
14%=19

192=361

202 = 400 3027 900
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